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*8')=(t' +z' +3'? +..........+17') +(t' +z' +
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.r + (x tFI 60%)ys-{r{frR
y - (y 6t 600/o)

ai fsri 4r cr{ 4 T{r eE qqtnt
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7

6
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qm iTEr qrq w* usT

1. qs fltI errrsrd t 16.2 ffi. +1 {ft :o firre i nq o< q+fi tr qR qnr o1 qro Ss {rrd
srodcrE+1 qro*r qlqkrircfl: t :8 6taqtcrsBE[9qr6t o.: t*..fr. Ei$ffi
qq-q 1fu{c ql c a-q s.tftZ
(a) l8 (b) 16 (c) 20 (A 22 (e) 23

terr$.*,m.S{l +s ffid *.sq$.-* (qr{fir{) rrfrqn, zots)

z. qfi slqcl qtq +t rfr * wrq +1 srk rg ffi.,q? t qeror + 31h T{ + f{s-e e ffi.^2
t qoror t, d sn< qe d erqfr q1 ,rld wt ii'fr2 ft+4.,4 q,

(a) t2 (r) 10.5 (r) 11 (,J) 10 (e) ll-5

C{{r$}e figqr Ecdt{ Eir+ vYnsfT{, 3Tffi G@) TiqlT, 2o1s)

srt{tll?tt

r.(a) 2.(c)

t. cH 41 if,{92fl6 qrf,,

td'rq c[+ * Ef,

{fr rc.2 l6.2x6o zzffi.,qzrqq-q 36 36

60

qrr+1 qre:s[roqofrnls+1 EITI= I :E
,3d1sqrd qr€ = 8r+r = 9:ffi.rtct
.'. 9r= 27 >r=3
.'. cts s1 sc*q-qrd ?tcT=8.r-r-7vf6frda

=7 x3 = 21f6fr.,e2t

.. 6.3 ffi. ilq s'G i (rTT sErq = 
6 3 oo
2l

6...1_Y60
21

=18 fu{e

2. f{qr rrcr t t6 Tfr ctrq sq fds= cH ql ,rfr mqq: r: ffi.rrr} qe q trffi.iqu) tr
lt

cnd Tf, c' 3TKm st Tfr =-(t3 r9) -'x22 =11f6ri1 rq?r2' ' 2
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HrcN-WT EIIET

r. qR ;r+r =Jii,r,oni ][{:!I}L!-rl* * sr ar.nz2[ Jv ')
(,) 1 (D) o (c) | (d) l'2

G{T,\'F.S. -fr,q.fr.qw.q{T, 3+r S.err$.rts.qu. sq-f{ft'qrfi qfrqn, zo r o)

2. txql nfrr z q{ * fee q* t{ft-{d qt qi rrlqr{uT qpq q{ fdfrrd +1 qir qk qE 3% sfel{
< cr Fr+Rrd +1 ETfr, d q6 t300 srfiffi Ei qrfrr 4x er qr er tZ
(a) t24,000 (b) <20,000 (c) T36,000 (4 <16,000

iqe.trs.fi. -fr.q.fi.qtr q€. et{ m.gTrt \T,qm. w-frfrqrm qftqtr, z o r s)

s. nc i <60,000 t q-+ er{fi o-fr-{r ssi 10,000 iiriE grmm triqr ofu $s {rft m z q{ d
sK ts yfr{rf, TITgRsr qrq c{ ,JTff{ fm-qtr qTql-{q qre * sc q Ed ffi-frrT efq-+ rJ'rdH

${;II qgl?

(a) (2s,000 (D) ?35,000 (c) (1s,000 (d) ?50,000

Gs.qfi.fr.-ffi , fr.q.fr.qq.f's., \-{.sr$.S.-Ss.Str.\'F. qfrqn, zo t s)

r. qlq+ e { Fr+frTd rflrfu +q-rT a i frdRm ffitrRr +1ffi tr *q+r rr t Fr}vr : qd
d teq sx qftrE{ HrqRq qre 61 < c{ fls-qr qrm * qqfq' qfe-fl e { z qd * feq sx
vfi q{ qrqnor qrs 61 < qrr fr d-q-{r3iY t sTfdd td qlq <taoo tr q}qcr a q ft+RR
r*rfrr er tz
(a) t4,000 (b) <3,s00 (c) {3,000 (/) <2,s00 (e) ?a.s00

fsrr$.m.fr.qq.-i*6 fr.efr/qc.fi. fr.ecq$-s qfrq{r, 2ois)

5. ffiS e,l-rulvrqrqremorailq*scd: edi ts+o firettr qR z e{{3-d-fiflqrqE{
c{ {376.20 fl q*-C|a qrq ftd, nt {fu <sqdi i) nn +1fqsr

(a) t1,800 (b) t2,000 (c) {1,600 (d) <2,100

N{r.!(q.rft.-FE Fqt€r ffi EFf,€ atr *X.*.frm.qs. qfrqn, zors)

6. E* t tr qq-{fr, rssz 61 ffi q-fl-si-r t rs"z, sft qd qt <rz,ooo el nfrr eqn el *t
srHT EUI T+-ri d tgq s qI, tsgz aJ qe riftr ercs *a frr dr g'TR ERr stq{ EnT Esri
+ tdq qErqr si ffi nftr .:rsT a1 G?

(a) (11,394 (b) <12,720 (c) t13,6s0 (d) <1s,330

Gt{.\T.fr. fr.Wr.qt ga. 1t o+21 qa.S.fr., 6.8.3fr. ga fr.S.q{.q. qfrq1Tr, zo t s)

giTtIIIFIT

r.(b) 2.(b) 3. (c) t. (.") s. (b) 6.(b)



3Tfrfrfi yrn-sf,{ qtr6

t<}qqcr+*EF

l. x+1=f +3=.r+t-3=,[+ x-2=,!y

frl'cq] fl qc q-d q{,

(,-2)'=(.,F)'

= ;'-8-6.r(x -z)= yJi

= xt -6*, +l2x -B = y.ty

= .rt -6x' +12x-8- y.ty =o

2. fqqr rtqr t fu srffirr qM t300 t sfu (t :"2 cfr qq I
aflsl x 100

Wqq =
gEl-q x E{

300 r 100
- _ = {s.000

lx 3

d +rqr rn =<(+xs,ooo)= <2o,ooo

3. {rc i er{d6 sfr"{ = (60,000

g,mn *1 ,ri lfu =<1O,OOO

Yts' {TRr = 6o,ooo ro,ooo =tso,ooo
rl€lsrrl x E{ x TIrIrl 50.000 x 2 x 15qFI= ^ = {15,000

100 100

4. crtr l4 qrqrT A cE +srT B d frAfrR emttfrr tr '*t <2" tr

€TgRul qfq =
{€TtI{x(txgfq

3i.51

(D

,) ;[ )

0

100

ysil-{gR. ='*3*8 * 2'*2*9 
= l,8oo100 100

24x 36x
- 

-+-=1.E00100 100

24r +\6x+ - l0-=1.800
60x

- = 1.E00' r00

= r 
l'8oo*loo=t3,ooo

60



31.52

5 3 ed + fuq srtfl{q qrcr : <s4o

r qd d feq qttrl{Er qlq = <l8o
z eS d fuq srqn"r qfq = <360

z qd d 6q +*-qf6 qfq = <360

r q{ d frq <teo qt qr\{ = 3'16.20 360 =t16.20

sitd-d <t =
qrq x 100 I 6.20 x 100

- _ - uu,/^

{OtT;I x qEIq 180x1

540xI00STlgd{Ifl =- , ,--.{2,000
3x9

6. 13 qr-{ft 1989 t 8 qr 1987 ir+' Ed k+i 41 €@r 19+28+31 +30+31 +7 = 146 k;I
(t =15% {drrr=<t2,000

HdtFIx(tx€rlq
Eic{-lII EIi

100

_ 12.000x l5 x 146 - 12.16
100 x 365

qqFE ffird
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wmqk qrq

r. <10,000 qr qr{fla qr:q a1 sta s{ staem < qr orfi f+. m tRr: qd d <13,310

el srs?

(a) llo/o (b) l0o/" (c) l2o (d) 13%

Gf,.Sq.fr.rfr.qg.qtCd. 1ro*z; qa.S.fr., *,$.3fr, Cq fr.S.Sq.\. q-frqn, zors)

2. ffi t]_+nlvr c{ : qd +r {IqRsT dfl\'I <z+o t s+{ ss'l Tflrfu qt z e{ s.r sS < q1 urgl6
qre <r7o tr qre 61 < sr tz
(a) 8ozo ttrl zs! "r" 1c1 l2!o, ral sflr,

N€.${.fr., fr.q.fr.qq..q€.d.fr.efr.t ST.3{t-$. \rd C.K.3TG. qfrqn, zor s)

s. q*-Ck qM q{ fir+yr si d q+-iift{d q-+{rRr z q{ i qt{fr ei qrfr *r sC + I1r *56p1

Eti{ffis{rrtt?
(a)6 (b)4 (c)8 (43

cq{.qq.fr. -fr,q.fr,ctn qtT. sfu m.elr$,qq.qu. sq-ffi's{fi qfr qn, z o r o)

4. {6,100 +r A-o iewr r+tc ec l0% uterr{r srslrrr En.{ c{ 2 qtd + foc alh q-d fd*r
utq g q 10% TnErFrT qlsRq qt"I q{ 4 qrEI + idc ftqfl fuqr qror t fi qtq i qre
qrr+< t qiq at fuocr firifl trqr -rsT?

(a) 73j50 (6) <4,s00 (c) (4,000 (4 <3,2s0 (c) (s,000

(sn$.*.+.S{T ++. fr.sn 1rr.) rrfre[r, 2o1s)

Er{TIIFIT

1. (b) 2- (c) 3. (r) 4. (c)

H.rS qr+ * E€

l. kqr.rqr t, ,n={t:,:tO; p=t10,000; ?':3qS

vrTrJqR, l: P l* R

100

- I 3..t l0 = 10.000 [, *a)'\ t00l

= 
r3.3ro _ (,*al' =f Ul'=(,*al'
r0.oo0 I l00l \l0l I loo/
ll R R ll

=-=l+- =-=--ll0 100 100 10
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RI
100 10

=R =1x100- l0 % cft s{
10

2. f<qrrqr +, 3 qd mr qtrrq qrq = {240
2 E{ 6r qm-qfi6 ql-q = <r70

2 S{ H-t RIeTRUT qM =

2PR_=160
100

pR=l6o"loo=<8.ooo
2

+*-gk ere - {F[{q qlq = 170 - 160 = (10

vv=IFnrR. 
PR' 

= lo' l0 000
8-000xR----' = l0

r 0.000 = n=]!9=21=n!y,822

-')-

240.."
J

= Tl60

3. rrm t*' p=x*r ,l=Zrtr
sqq=28{

l+ R

100

fii cd +r qrl qd q<,

l+ fl
100

dffi{rRr4E{i+1rrdvffir
4. qm f6 g1q B qq Htq A q Fri{r Ei Ti {rR'r {.r eh <6,100 .,+t

... A=P(r*a)'( tooJ

= z* = *(r*3)'I lo0/

etq e + riTq E-s-{te qM=(6,100-r)[[,.#]'-r] =to,roo-,1[

= (6, roo-,)rl! I
\ t00/

qtq e * lqq et*IRor qIsT - rxlox4 
- 

4or
100 I00

Rqr rrq t ffr ffi Etcr c qrq q{rq{ tr
4ox ( 2t) 2rr_=t6.tot)x_ t__100 l, 100 ./ 100

= .1g=1.2s1-!L, = 
u''=,.rr, 

- *= l'281*luo-2.,00
tuu tuo 100 6l

slq a i f{+sr +1 ,r$ nfrr =o,roo-_r=6,100 2,100=<4,000

121__l
100
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trq-d

1. A,B,C,DqE$q d oj"r tr qts i Sfi Tdq Etl, dl cosA+cosBlcosC+cosD zFI qFI

e-fl{r

(a) 0 (b) 1 (c) -1 (d) 2

Gq.S{T.fr.-fr.qq.\rs.q{., S.S.efr-qf,.S.m. vfrqn, zota;

2. q6 {4 *r f'+ B*5o (Triangle) t51 sqFT qtffid +, qR Et 41 5w ein: frVs +1 fu EI
3f,3crd 2i3 t, ni agv { !fu d{ qTeIR 6t erlvro t'
(a) 2t3 (b) 2/s (c) e/8 (d) 9/tt

(qq q*vt rq *qr ERftrfi qfrqm, zote)

3. q6 gilfil{ tsTr 
"1 

tdqr q6 qrt{R +fl{ H1 qd Tqr * onfi tr qf< t-qn +1 cRlq sE
qqtsn t<n 41 cftfrft'* qq sr-d{ 32 4-Er 6, 6 qrri+'n i-ct{ si cftfufr flr tu t+a
t)
(a) 8a (D) 9s (c) s6 (,4 28 (e) 112

(W.sTr$.fi R.S.sfu qfrqrr, zoro)

4. AABC *r men ti, zs = te, tc= zn tr eR q{ M q.q td€ t'r qR ee : pQ = 7 4.

d fmfrfis( wr d,nz

A

B CO M R

+rrn (AABC)_?
qirq-fi (APMR)

35(a) -8
ttr I

16

49(c) -E

15(d) 
-l6

G€.SQ.S., S.S.+.Sn.St{.0fi.fr.efr.t qS.er$. Sq \.\r€.3Tr$. vfrqn, zots;

5. 10 t.q1. Tqr as{r 12 t.cL qi rfuri qrd flt+'R elTrlr rfi q+ sq ffirfu-s or Ae gde
dtxq-d Hr Ehnu

(a) 260 e,i t.ci. (r) 360 q',f t.ci. (") s:o q,f t.fr. (d) 300 s,i t,m.

Nq.W.fr., fr.q.fr.q-m.qt ofr.+.eft.1 sr.B{r$. q{ s.qq.sTr$. qtq{r, zors)

6. gm.\.q fiq m ffi tfu z t.qi. t, enqR s,f tr qR &-ec sr E-€ ygtq st{s-€ to

tfr., +, s1r+6q q1 ltn:
(a) r tfr.3 1r; r t.fr., 1c; z t.fr.3 14 + t.rL,

G{T.W.fr., frX.m.C.F.Sq.d.fr.g+.1 qq.orr$. F C.ST.gTr$. qfrqn, zors)

P
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7. idql ETotE ti5q +1 qa: frqr *{,{R ff,qr qi oqcrd Hr 6tin?

(a) t :2 (b) 2 : t (l l:Ji @\ Ji:t
G€.W.fr., fr.S.fr.Cm\T.Cfr.fr.sfr.1 W.srr$, ga S.\rq.Bn$. qfrqn, zors)

s. w€rq sTr{rd q tAoC= 140"d, q6i o Td 6r +q fc_s t d zasc fqn-* e-(t{{ 6trz

C

(a) ll0' (6) 100' (c) e0' (d) 40'

(qq.Sq.S., rft.C.fi.$.S{T.itrfr.stl qs.ilr$. !tr C.\rs.sn$. qfrqr, zors)

,. oq ffi eri ffi qi{Ed ss+ s,i d anon el cr*-rn rui gq 44e6 qdr Rqr erc ui rd+
Uqr ffi vFavn qa qrEfrl

(a) 19"k (b) 21% (c) 22ak (.t) 44y"

(W.gt.fr., rfr.q.fi .qw.qr. 6.fi..n 1 qrr.s{r$. Sq C.CT.sTr$. qfrqn, z o r s)

10. AABC i ec d {qn-fl qfi s{e tsr ae eh .\c si s-rr{T: p ulR q qt Eg FFR ql-fl t
lq Ap:pB=3:z,a aeeg 

' 
qq aaec4 t*q.o qr orgrrd rF+ryr: er ar,]Tz

(a)25:4 (b)9:2s (c)9:4 \d)4:9
fqs.frs.S. rft.q-m.qu.S€. efu fi.3G.\T.CF. sq-firR'qr-*. qfrqn, zoro)

11. qs Byq +1 'JqT{ z t..fr., s t.fr. qq q t.qt *, ot fi'p an si{m.e ((,r1., q) t{ilr.r
er.n Z

(a) 3oJs (6) 6\6 @) 2ali 6 rz"li
((s.qs.fr. -fr.q.*.qtr.\rs. sfu S.en$.qq.S6. sq-ffiq{6 trfrqn, zo r e)

12. {d c an s1-dsl1 +f s d sfdrd+*r+rtr c s1 cRF{frore.f .*r s e1 cftft{ft s,Ei
6r sr5cn, ftq rrq ffi t t eY{-er {rd E}r?

(a)22:7 (b)ll:14 (c)88:7 (d)1:1
(B{fr{& +c--d dfd+€ atfum,qrffire vfrqn, zors;

13. 50 rir.{ Tqrd srd q6 qqisn do d zso t+.qr. =rr+o 6r Edr{l trar *t too qta Uer.rr
eld sr+ d qrrisn da { rcqq qr+o *1 qrz f+n-fi otrft?

(d) 2.000 fm.qT. (D) 1,500 io.ur. 1c1 3,000 fu.nT. (./) 3,500 fu.il.

G€.qg.rfr. -f{qr$, Sq.fr .Vr.qrr., \i.sTr$.S. -SE gq.qq. TfrqTr, 2e 1 5;

14. qfi.f,sd d ffi frr+n qq +1 qrafr o*{ oTidR-6 qrrffi d qrq qoi t zo , is 6
ergvm { {Ftrr drtflr tr qR cq q1 dET{ 5 rtc{ +, n} .3Tnrk{ qrq f*-f,{r t?
(a) teO tra (a) tso f-a (c) res tra (4 rqz d-a

cq€.w.fr. -frqrfr , fr.q.fi.qm.qq., sr.o{r$.s. -\T.(s.aF. qfrqn, z o r s)

A B
140.
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15. (s firdus{ q1 gqFrfl Rr6 er duml eik 5e gqT{qn ffirt d' duq-d { wgvn mcfl: 4 : 5 t
srrr{ firArfl + gqqqn qro +r Errqo r.z:z q,i tm. t, fl ge-+i fu mr tz <tqL tl
(a) 28 (b) t2 (t') 20 (.1 ts (e) 19

teTr$.d1.fr,qu' +6 m.sn 1rr.) rfrq{r, zors)

l. (,t)
tt. (4

2. (c) 3

12. (b) 13

(c)
(.)

4
4I

c) s. (b) 6. (c) 7.(a) 8. (a) e. (d) r0. (b)
a) 15. (a)

ErtrIr€fi

Et'rq ur+ * Ef,

,. * ,+o aE€q + en qrq e, s, c'dh otr
qs Tds qEf-q q ffi( +fr +r qtq rso'trn tr

= cosA rcosB+ cosCtcosD
=cosA+ cos B i cos (180" - A) + cos (180" - B)
= cosA+ cos B - cosA- cos B - 0

2. Rqr.Hr t, +i +r dz.ffi =fiTs qr eiffiH

-,> a'=!rb*H
2

qir fs. {4 +1 Vsr uih fiUq s.t *qr{ *qfl,

=+ l2.r): -!rA^3r = 4rt -]I8 -=22
gs

; lt lJ -> ll --B --l88
H:B=9:8

3. cnr ts'atr-on i-<n s1 fi-qr , qta tt
i,2nr-4r=32
-,> r(zn-+)=tz

3.r i'lrIId

t(:l = ll
3

H9
= ,-1a

8

=r
44 

-a
7

=322,2-q
7

B8

-* _f44-28) _ 1.,
-'( 7 )--' =.=32'7=146E1t6

EItfiR +<H s1 qftfrfd =4x14=56qtc{

4. f<qr .rcr t., M, e, R 6r .* 65 tr
p14 qp;r+r tr
.'. APMQqs'aPMR sl etiq-f, q{l{r tr

tB= tQ; tC= tR
IABC - ZPQR

AABC AB, 72

A PQR PQ, 41
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s. fnrfrs +1 !fu = 12 i.qL

ffig s1 ft+d rtqTg =^ls'*C

fr{rfois 6r cmd ydc d"se=+" 3ilER ql sfrqrq x ft{-+. rffi

= i ",0 
- ror ( r 3 - 260qri +.fr.

2

elTqR 6T qt*s-d =(I0)'=rooq"i tq1.

!E-d y+q drrqe - (260+ loo) - 360t.fr.,

6. qc fe-cc 41dqTi = 2 *.c'L
qmr fu €ErqR erf o1 gvr xtr
fuyc q-r {d IBtq qirqE = o{em $T qfrsJq )< fu + Z x oiTErR rEr *flF?T

10 = 4x x2 + 2x2

2-r'+8.r-10=0

= ,r2+4.r-5=0
ir'+5Jr-x-5=o

(x-t)(x+s)=0

=.r=l
.'. fly-wqasrf{il1 = erTqRq'tq}q-s * ff= t x 7 \ 2 =zt.fr.l

25 + 144 = Jros = r:s.fr

qqfrE sfdrrfrTf,

A

a

r:R
sIGl AD E1 = 

v' , r1g1 = 
vr o2"2

..( =!x D
3

l.a a

32
O,l=?m

3

2Jl a

3" 2 " ..6

eia:frqr =E=-g:2$ 2J3

qfuc ertqn = a=:'-=l:2
' 2.13 .13

2J1

B D C

A

B C

sr.58

AABC 49

2APMR 16

AABC 49 _ 49

APMR 16 8



aTfrft-ff yfl{-strr q[6

s. f€r rrqr *, zeoc= t+o'
qrq ACERI *< q{ ffim rq +.tur = TC( +1q ZaOC

- 360"- 140" =220"
.'. IABC =cRftr c{ ET 4lrr

=220=tlo'
2

e. qnr tm'yd* 5_qr d r%+1gk g$ tr
2

yFIFrrm. 21.i =44" 100
qR x=20

,, (20)
)x+:L=2 *20+' ' -40+4=44ok100 t00

r0. PQ lBC
ZAPQ - asgg
IAQP = IAC.B

AAPQ ^' AABC

AP3PB2
PB2AP3

Pts2
= _+ t =_+lAP3

PB + AP 2+3
AP

AB5
AP3

3L59

C

B

A

P o

B

)

AP3
AB5

AAPQ sr ttrs-f, 
= 

AP' _(3 )' _ 9

anec 6r ctq-f, ae =lsl =x

u. RqT.rql *, p=7t,qt ; Q=8t.fr. ; R=9tfr.

frus 6r s{-d cftcrc = s = 
P t Q-^* n 

= 
7*!*e =} = rzt.t222

ETe 6r QrEfl = s(s-P)(s-c)(s-n)

t2(12-7)(12 8)(r2-e)

12x5x4xJ

= 12.,6 t.fr.'

12. cmr t+ C{ 61 trqr n tr
q-r mr ti-*ma = nR' =qlf *r etds-f, Fils+1 I-+s. Tsr x tr
-) nRz = 12

7't:

R"

140'
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Ta sl cftfofr (:n,)' 4xt r'e{{lTqR
+j oi qtron (+")' thu:

_4nr.. l_4n. n 22 ll ,,.,,
16 n 16 I 7x4 l4

t3. qrrisR dn sr qbEm = 50 x 50 - 2s00 t.fr.,
da q qrqe sr s_flr+r = zso foqr.

=n+ei +r qrFs< s-er<r =JlL *16.666=3.000f6'qr.

14. qrfl lfr 31Tf,ft-6 Cq Er6fr qRMq{T: rqq x+loqta tr
n(x - lo) 20TI9:IFI{IP. _____! = -' n (.) le

= 19x+,I90-20-r

= r--190fra
d 3tidft-fi anq 196 frz{ }1

ts. kqr rrqr + fu'ffi<{ s1 Eqzr<R sild cq firfi€{ +1 A-e gq-qfl sil6 6r shs-f, E-cvr
2xrh@ 2nr(r+h)tt

kqr .rqr *, 2rrh=1232
t11.) v 7

rh='-""' -196 (i)

Znrh 4ni ' 2nr(r+h) 5

Znrh 4

=

2n(r'1 + rh) s

rh4
r- +rh 5

sqt6{q (i)t,
196 4

r'+196 5

980=4i +784

4r) - 196

12:49
r - 7t.ft.

qqt+-{ur 1;; Q,
l96 t96

TrFFg{ zFI :3;-qrg - _____ = 
j___ _ 28 q.cl



3Tfrtrft yrr-sfl{ qrr6 3{.61

3{r-qiFT dEr Yfrq-t{tF-m

gir{TIIFTT

1. (b) 2. (a) 3. (d) 4. (A s. (e)

Hqqurfr*ra

r. fcqr.rqr +, +fiir+T Eq q1 fi.qr 3IY{ eET$ 6rIyI: 30 t.fr. cq +o tfr. tr
ritffii El get =

+tr{r+tt Bq tr'I sfirfr{ nr,h "(:o)'+offi 61 3rrqf,{ 4
-TrJ l"t'I

- nx30r30x40x3 
= zz.ooorilffi

4x nxl

2. fl<qt rrqr *, 4 ,., = 2 : lRq' h,:14 =3 2
), )'vt T4 nt t, fl,
) t 1,v. T\n: fi ff:

3 43x- =-x-= 6: I212
\
12

hl

h2 )(
2

1. 30 *.ft trw1 q1 *r +o r{.qL ++ teqr+n eq +1 .Tdrqr sror t *< I i.ci. tdq'r qi
,ilfd=i'e-{d qrfr tr ,ilftrqi 61 (gt ffi d{t?
(a) 36,000 (b) 27,000 (c) 40,000 (d) 90,000

fq€.q3.*.-fr.q.fr.qtn.S{T. dR fr.err$.Sq.Ctr,. sq-frffid rrfrqn, zoto)

2. <) ffi E1 f*qr 6r srjq( 2 : I t oik ir-di ff : . z d ergq6 U ;, rl-* sr{ilri q.r

ergvn wr dmz
(a)6:1 (6)3:l (c)6:5 @)a:3

Cq€.\s.fi.-fr.q.fr.qq'.\r€. sfu *.3rr$.ST.!tr sq-tTR'efo qfrqn, zor o)

3. fi-qr * erqt rfu qd tcq +r q-fi yqtq slds-d .ild * o-m gslq slds-d + e<rcq tr
+€-{ + snqffi sli{.N * e{rqil{ 6r er{qrd flr Et'Tr?

@) Ji,3 (b) 3:2.,1i () zJi:3 QI 3:Ji
Ge.qq.fr.-*.q.fr.qm..\r€. s+{ fr.er$.qtqu. sq-ffit+ qfrqn, zoto)

l. qo tan sifr q-+ sr€ * enqn +1 fr-qr qq,r t 3ih s{fir sTrqiH rfl qqn tr Er-+1 fu
6r Bf,lcnT Hr drn?
(a)2;1 (b)1:2 (c)1:4 (d)1:3

Ns.q€.fi.-fr.q.fr.qrr.qs. *t fr.er$.qtf'tr. sq-f{frfo qfrqn, zore)

s. qo *e-r q.i tr-qr qq rfu m *rq-f, ts ctEt t'r qf( +f,{ +r ae y*< stiq-€ zsz q,ifret

El, d +ffi iFT Bnrkn fir +? (q{ rft-& q)

(a) L8a8 @) 1,440 (c) 1,716 (cl) 1,724 (e) 1,694

1srr$.*,fr.qs.-tfm fr.efr/qc.*. S.sq$-s qfrqn, zor s)



3r.62

= lt=L--t,z
n2J

qEfrts sfsrfrrd

= h=18-7 =ll:{t{t

3. qFrT t{ +f,{ d enqR Cq .N si i*qr *-qu: rt.fr. qq n *.q1. tr
SI-{rJqR, 2nrh = 4rR2 {': r - h}

= 2nr2 = 4nR2 = 12 =2R2

r{r6fi 61 31Hil{ rr,h fir
= ,: ntin t;

rffi q-t 3rrqtr{ !nR. !

(i)

J
^(r\t l.rr\, 3v2Ji 3 r

\', +"('2) =r-l:r'i2
rR3 4

33
4. l<+r rqT B, +d-{ etr< vtq El fi-qT qq onqrc qtqfl. qqn }1

f6q ol eTr{fi nrrh
qr{ 

"6-r sll-.l-il{

I

= rrzh. = !nr2 h^
J

s. fflr qsr +, +m{ ql fr.qr cs fu +l qtrwf, re fi.{ *r
=r+&=t8frzr
tm +-r Ed ydq stds-d = znr(h+r)
2nr(n+ r) =t92

+ 2x?xrxl8='792 = ,= 792"7 
=7.02!7fre{7 2x22x18

im< m s { { =,rr2} =4x7 x7 xll=1694fra1
7

I
fi

3
,' h,

. I.
J



3lfrR-fr vflr-Tfl{ s[6 31.63

tq{ dEr HrcrM

<roo erd s-d trR ql qr.,m {g {89.5 tr <erfr (broker-age) o.sx tt erqrcT 61 (t
ts,z *r qFs Ei{ qtfi 5t lt+d q <:eooo or Fr*vr o,'rm *, dr ci w q{ t+-d-{r msnsr
yrw drnu

(a) t60 (b) ?600 (c) ts,000 (4 <6,000

C*.qs.qrr.qq.*. is-facm-rr, rfrqTr, z o r s)

t. (.0

Et-{qrcII

H'q cfr irr Ea

r. ffi d f+qr .rqr Frisr = <36,000

. 36.000 36.000
YFm "6r 

q-€[ll j 

-:4(x)
89.5 + 0.5 90

a-o eft-o Xe = loox4oo = {4o,ooo

anqrq E1 Et = i5 %

40.000 x I 5Ztrf, zlTIrr.F dtsl - = (6,000
' 100



3r.64 argf{E ffird

r.s

(i,t I'24
I(c) 

-.31
(,4 -L

48

1. 4s fu{r 1 l<{ sr dlc {r .{H t
tot L'42

1r-{r ErSJ srHa rrfrqn, zoro)

2. qfi s8-d € qr Uq-6 s {i 6r sEFr +rR error *, sl[il e1 qq z qi q qqq rq{ 3{qq],

ni qi qi g{ ffi M ry T6t El.ft?

(a) t44" (b) lso" (c) 168" (4 180"

(H(ffi) ga 'S'qfrqr, zor+)

s. qs rlmr*.R sq d qt s+{ fua-c * si} +mq {d q Efrrfi ER Sfi (et t iaEq-+q frqfd c
at tz
(a) 22 (lr) 48 (c) 44 (tl) 24

(csq rdvr *fi +qr en*rr rrq t-er (cT.l qfrqn, zora)

EruIIETT

r. (c) 2. (d) 3. (.)

H'rq cr+ * Efi

t. r ffi =24st ; l szr :661qna

(z+ x r,o) ir+e

ers+E Eilt
45 I

24x60 32

Z. errtq q}rr = 
6 

x360.=180"
12

3. \,8 ri-drfl-{ sqi d qi sfu fu{s d ++t +d-s q-it i ,{+ Er{ {vt t mq+q fuft q dt tr



e{frkfi c[{-Tfl{ ([6

vqr eM

1.242631 4t?84
(a) 6l (b) 69 (c) s8 (d) s4 (")

teTr$,*.fr.gt' iF€ qn-d fr.sogg.-* 6rnFr6
2. 6 11 31 121 601 2

(a) 3,600 (b) 3,621 (c) 3,601 (4 3,61t (e)

6qrq+s Efusqr E+dtR 
"i'r+ 

uvrrefu erffi 6gu1
3. { T$ vqr Tq-dr I rrro ssr nra +1kqr

40960, 10240 , 2560 , 640, 200, 40, 10

(a) 2s60 (b) 200 (c) 640 @) 40

(qtT.\rq.fr. fr.W.q€.Cm. (10+2) !F.*.fr., +.$.sfr. qq fr.q.qs.q.

sT.65

70

qfrqn, zors)

3,602

qfrqn, zors)

qfrqn, zors)

4. 28 39 63

(a) 232

102 158 ?

(b) 242

89?
(b) 4r2 (c) 324 (d) 3Ie (e) 2e8

Gs.srr$.*. F6r.r*, YvnfiFrfi oTRr*,rfr G.\.*) offi rrfrqn, zore)

(c) 233 (A 244 (r) {ri t +i i-dr'

(oTr$. +.*.3n$ \rrfr{Eq qfrqn, zots)

5. frqq +-r qa e.[(:
4r, 43, 47 , 53, 6t, '.71, 73, 81

(a) 6t (b) 7t (c) 73 (d) 8l

(eTR.s{R.fr Cqugg {c S' Crqq qrfi qfrqTr, zors)

6. si ,ri .IE-dr t rird sqr +i ilo +1fsq:

6, 13, 18, 25, 30, 37 , 40

(a) 2s (b) 30 (c) 37 (d) 40

lernem.* Cqqgg {c '*' gut qro qfrqTr, zors)

7.2 3 '1 .22

@) aa6

frT{IIIFIT

l. (c) 2. (") 3. (b) 4. (c) s. (A 6. @) 7. (a)

Hqqcr+*En
l. 24,26,31 ,41 , ? 84

z++(t+t')=24+2=26

za+(t+z')=ze+s=tt

I



31.66 E-<i{E 3ffi.rn

2. 6r2-l:l
11x3-2=

= 31+10 = 41

-41+17-51,1

= 58 + 26:84

-1=11
3-2=31

31x4-3 =124-3-121
121x5-4-605-4-601
601x 6-5 = 3,606 - 5 = 3,601

3. 40,960+4 =10,240

10,240+4=2,560

2.560=4=640

640-4=160
160=4-40
40=4=10
d gqr 2oo rEkr t, too qfr tr

4.28+ ll-39
39+(ll+13)=39+24-63
63 + (ll + 13 + 15) = 63 + 39 = 102

102 + (ll + 13 + 15 + 17) = 102 + 56 = 158

l5[l + (ll t l3 + 15 + 17 * 19) = 158 + 75 = 233

s. 41, 43, 41 ,53,61 ,71, 73 cfr+q gglq tr 8r qfr+q quqr rE tr
6,6+7=13

13 +5 - l8
l8 + 7 - 25

25+5=30
3O+7=3'7
37+5=12
40 rErd sqr tr

7.2x1+l=2+1=3
3x2+l=6+l=7
7x3+l-21+1=22
22x4+l=88+1-89
89x5+l =445+1=446

:t+(t+:':
+t+(t++'

s8+(t+s'

)

)

)

2

J



srFoicm yrc sm sra sr.67

qRufrfi

frtw (r-s), fiq {RUfr 6r snqffiT*m erg{q{ alfrq qq f<q.rs se{} d'Tf,{ {fqst

r. IIs-dR *1 gon c rTi{fl{ +r gworou B q- qqmt El +@r q' zox e1 gid Ei cs
Iw+rdq p t +o"z sl 6m d .rir g++m+ B qq E 4i fodm{ rTF{sR ql sil,rg-+i qi

a-e vwt wr v1?

(u) 320 (6) 300 (c) 270 (4 310 (e) 2e0

teTr$.*.fr,S€. iil*' ffi-d m.seq,S.-+ finFr*'1 qfrqn, zors)

2. ywmrf,c B qq D ql ft-dTfi ilqqR 61 3{r.rg-61 qi Eq srsr qe g<-*ren A qq'E +r
fodrsr qt'cin d srFrgfil- +1 q-d q@r d qta fr-qfl, er eqvn tz
(a) 7 : t2 (b) 9:11 (c) 1l : 13 (d) ll : l5 (e) 9:13

ren$.*.fr.qq. +6 ffid m.rq1$.-* tqrrFro qfrqn, zors)

3. {rr-qT{, shqn cs Em-en +i fr"or* g<-+rcq a q 3rrrrgfir +t e+q-d qqr qr tl
(a) 1i8 (b) 124 (.c) 122 (d) t32 (e) 116

tsTr$.m.fr.qu. +6 ffid m.sq*$.-* CcrtFT+1 qfrqn, zors)

4. gwf,mq A gq D 6i fr'dr+.{ tTffiI{ 4i qr,r{-si *1 qd qcqr qq gk-dldq C qs E 4I
filf,rd{ gqsr 6Ei 3rrrg+i +1 ao ver * qsq qqr si-ilt i'?

(a) ll3 (D) lls (c) t25 (d) 103 (e) 111

terr$.*.fr.ST. +n ffid *.rq*$.-* 1vrhrq qfrqn, zors)

5. qrp5qR el eTqqr +ieR ql gw+rdq u q 3p6+t q1 sqt { ffi vfi'{rd El Eci d
61 .dz

(u) 42.5 (6) 40.s (c) 4li.e (d) 36 (c) 11

terr$.*.trr$T.d*, ffi-d m.e-qq.S.-st 1rnfirq qfrqn, zors)

fcs.rs ctq ffi + +{rc s Ewfirtrd q 3lrrrd-*1*1 t@r

ftq 3Trrr{fi +qeR gersr{ +t-qr YJffi-{R

l4 98 lt4 t57 121

B 9I 180 t54 92 l5s

C 151 115 r4l 80 123

D 125 113 108 r53 108

E 12r to4 183 155 140

I



er68 qEfrs sffrrd
trtw (e-ro), ftq sn"fr 6r qrqqrfrTf{ ertq-{r qTqq sq f{s,rs ffi'$ g6q {fuq1

er*a zora ii s ftm ffi t qrdm affia d t@r i +tqftrd srcr

ffi q,,ffi *1qa +iwr a.ffi*tqa{qrt+
fla-g5q etrEi HT

cPdgrd

snfurq Hrf,rd
m cFdvrd

qiET HrrfiI Er
EFdsrd

A 40%

B 40% 25%

C 900 44% 35%

D 1300 48%

E 30% 50%

raqsTT:

(0 fl Ti +'qi{di + +'ffi +{d fi-{ eiFrd - t+gn sm+, qrFtw Hrf,fi qq 6-f,r Hrfifi -
t fr q.tr-{d 6q q1 s+i tr

(iD sRUfr d Ed qr{ ( * Fftcfr) sr{Td-*r tr q+ qqrqT t sTqfud t +a qgffi"l q'ri 6
rqa 5{ qR fu.rS sra q.q w{srfr * emm qr fqq rrq yfi 6r srR ti + fdC aflErqz[

*r
6. q.qtr Ad fu{H Hffis qct qfrs sp6+. +.Eisrnd d stq-d seqt 518 efrr o-rfl At

+trqrR-d +1 qe vwr aur utr

(a) 1,480 (b) 1,s20 (c) 1,560 (4 1,580 (e) 1,440

ts{r$.*.+.\re.-+fi fr,efr zu3.*. fr.g-q$- s qfrqn, zo r s)

7. ffi n q-ffid +1E-e vw qffi B t +-ffir'+1ao ger q1 m €iir qR sH E
qs 6qfr e i qrfu"il'sro-+ +.ffi q1 sqr d qq sr-{r 300 d, d oq-fi s i o.ffi
+1 qe vwr wr *r
(a) 900 (b) 1,s00 (c) 1,200 (d) 1,320 (e) 1290

fsTr$.*.fr.q€.-iffi fr.Szqc.*. S.<q,$-s qfrqn, zor s)

8. qi( sH o ii q-m Hrilfr q.{-srRd'qs slfulq sra-o $-ffi 41 v@r * cq .T{crd

l5qqr: 4 : 9 d, d ff D t q-or qrao 4'ffii q1 s@r Hr frr
(a) 236 (b) 232 (c) 208 (O 224 (e) zt6

1elr$.*.fr.q€.-t[6 fi.sr]/qc.d. fr.vqg-s qfrqn, zor s)

9. ffi c i 3TFd 2013 s1 ertqn s+d zor+ { +.ffi'ql s@r d +ox e1 gt< ri .rir vR
sTFd zorq q ffi ci mffi *1 Ee vwr d sox q-ffi qfrs sp66 r), d BTi-d

2014 q trq-fi c q srfrtq sp66 +'ffifr +1 qsr er q1?

(o) 6s0 (b) 630 (c) s90 (d) s70 (e) s10

teTr$.m.fr.q€. -+fi m.*zqc.d. fr.vqg-s qfrqn, zo r s)

r0. ffi C q fr-flr Ekrs'gs rF?11 Hkl-.F 6ffi s1 qgq1 d cr4 wr e-dr en?

(a) 136 (b) 132 (c) t28 (d) t22 (e) 126

teTr$.*.+.q€. -+fi S.ei/qc.*, *,vq$-s qfrqn, zo r s)

300/o



3rfrkffi v{r-sf,{ {tr6

ErfMAT

1. (c) 2.(") 3' (a) 4-(") 5' (c) 6'(a) 7'(c) E' (c) 9' (b) 10' (e)

H'qvr<)*ra

1. {Ttost of gw+ro-+ ,q ilrrg*i 61 uer =tsl.j2o =rao

{Trr-cn E) g<-+.mq uq qpl-g#'41 s@I ='ol#o =to

.'. lEo q:t4.r =1136+84=27O

2. ywrrffq eqE o 41 fq"dT+.{ qlrqx 4'r q-,rg+,f 41 €@r

=91+125 = 216

afuo erlvn = 216 : 312 = 9 : 13

3. iiqqR drdR cs gman <r1 trdr+.{ 5w+.rflc c d qr,rg+1 41 3trtrd vqr
l5l +80 + 123 354

33
4. gFilsrq Aqq D 4l fr'dm{ q{TER 6j 3rr'rg+1'41 wst =qa+tl3=2l1

y<-firffi cqs s +j fq-++rq grqfl d qFlgfr.i +1 5a wwr --141+183=324

erfrq ef,d{ =324-2ll=713

s. vtd{rd mn t{f,too 
= !!'1e6= W = +a'o'o

6. ff d fs-fl{ srn-+ qe qrfurq era+ 6ffi +1 6a riwt =2 x s18 = 1036

qrqr t6 q-ffi o1 qe wei l tr
d ur<gvn,, 6t 7o% = 1036

,_ 1036x100 
=,0*O

70

7. qnr fo ffi B G +ffi e i 6ffii q? {sr ficvt: rF'3rtl
3,r tEr ( 100 (50 + 30))% :r 6'l (100 - (40 + 2s))% = 3oo

+ 3.r tFI 20o/. - r{J 35% = 300

l_rx20 xx35
100 100

* 60x - 35r - rnn
100

) \.r

= --'" =300
100

31.69

gwfirdq A qq E q1 firdl{.{ +f{R Ei qfi=g-+i E1 s@I = t57 + 155 = 312



3r.70

IO,

8

qqf{E ffiR
300x100> r= =1200

25

m oq-+ s C e.'ffii +1 aa q41s* l,2oo tr
ffi D q a-e +liqrfur'+r vqr _- r,:oo

Rqr trqr t q'"m mn-+ : .nfrrq ErFE =4:9
6-ff qq qrFlq qreq;s.ffii s.r sfr{rd =52%

1.300 x 52
9I-{t{sR, 

-- 

= 676

i5qn Hrf,fi 6ffi s1 q5ql =!x6.76=208
13

erFo zota d +H c t w 4'ffi 41 sqT = 900*e00'40- t.O =SOO*360=1,260

qrfurq Hrdfi q*qrfirqr sl qcqr - l'260x50 
- um

t00

oq-fi c d tq-onc Hrilfr.q.ffidi *l ytdfld =(100_(44+35))=too_te=zv"
t*fln sn-+ +-ffisi q1 s@T = 

9oo'21 
= r89

100

c5?rr Ekr.6 6ffit' s1 q5qr - 
9oo x 35 

- , , ,
100

3iq1E er-dr = 315 - 189 = 126

9



3rfrfufi vs-r-sf,{ qqE r1.71

qr$-qrm

tr{vt (r-+), cri-qrJ t ffi t{r + ed ffis 4'qq <srts'rq tr qri-erd 6t qq{r o1mq q\
ys-i'ql st-q {icqt

fuen
{qll to%

+{ ql-dil
36%

tq-f,r tq

l. qR €-rfiR Air qd t E-d 41 'r$ ae nlw {1 ,00,000 41lg m, d stPr elfr frrq{r qr frsrd6T

qE ffi {rft €-d si'ri?
(a) t20,000 6-tle (t') <ZS'OOO qts
(c) {30,000 tF-ts (./) <15,000 6-{rs

(gt,sfi.fr.-vo F{t€{ ffi 5ffiF *l frr's.qv,'qs' ufrqt' zots;

z. ffi *1 gen { 3aq qq Yfrd c ffi sfdnd 3frfi rrfu qd 61 'ti?
(a) 25% O) 28v" (.c) 27"k (Ll) 260/o

RT.\T.*.-Fe F{t€r ffi gFfis ett fr.q.fr'qt.\r€. qfreil, 2o1s)

3. qfr E-fc;R 6Rr q{ C €d Ei]T$ qf, {rfql {3,00,000 q;Irs q], u1 5q f++rs cT E-d E;1 'Ii
{Rr # qr rq{ a1 .d {rftT t ffi arflr+ }a-A tl
(a) t3s,ooo ot€ (,4) <+s,ooo q+c

(c) t3o00o s-ts (,1) <zs,ooo aifs

Gc.qs.fr.-sE 5{iE{ ffi gFfr{ arYr fr.q-t.qtr.q€. trr, 2o1s)

4. Er{ril w q-e ffi stdlTd {Tftr rq=i 4t'd?
(a) 20"/" (b) 3OY" (c) 15% (d) 2s%

RtsH.S.-Fn Eqt€r ffi gFds eth fr'q'fr'frq.'rrc' qfrq{r' 2o1s)

s. rq{ q1 gu+ d 'ivtm {id t ffi vfts'n 6-c rrfu €ri 61 .r{?

(a) 5o/o (6) l5o/o (c) l0% (d) lzY"

GT.qr.fr.-EE Fqil€r ffi SFfi€ etr fr.qfr.qrn-.qq' qfrqn' zots)

15%

30%
}TTI 51'

E6-d



a.72 qqFB or-frrreR

l. (6) z. (a) 3. (b) 4. (c) s. (a)

fil-fIilFTl

|s.q qr+ * EH

r. fvrwr ct fs.'qr qq1 .tr= l0xlr-99,000 
-- tI0,000s.tq

Fme4 rR Tqr E=j <4
--:' x1.00.000 -<15.000 s-+s

E-d {rr{r = 10,000 + 15,000 = {25,000 s-ils

2. 3{-q qq q{ fuqt .rq sd = :o"z

ffi qt t+qr rqr qd = 
I 8 

* 166 -, 1507n ofs
360

qful sfrerd = :o 5 = 25 o/o

s. nq fqq-rc c{ E=i s'I .[- - I s
i fivt = -::- * 3.oo ooo - ?+5.ooo 6+s

ffi qr f+qr ,* *=#"3,00,000={15,,)006i-s

qtfufl e-.il{ 45,000-15,000 = {30.000qi{ts

4. HRr4 q< fq-qr rrqr qd yftvn = 
54 *t00=15%

360

5. {sir rR t+q ,rq sd cfr'{rd 15%

qlr*fi c{ f5'qr rrqr qd stf,{T( = 36 
x 100 = I 0%

360
{ffi +1 gil{r n +qifl vfrd d s"z 6c {rfrr d *.rr-i,



oTfrft-fr vfi-sf,{ srrf 3r.73

ils 3rr&q

Fr*vr (t-c), ER IIITF EI 31e4fi Atlq .*r vrlr'+ s+< {tqct

600

500

400

300

200

100

0

500

260
2

t5 150
120

ts96 1997 1998 1999 2000 2001

1. ts9'7 t tsss ils'qnr i gFc +-t ee-pir-o efr{a td-il{r 
'Q{r?

(a) 27.3% (b) 26-e% (c) 27'8"/' (4 26's"/'

(qtr.g{T.fr.-rra E{ts€{ ffi gFd€ *t fr.q.fi.qq.W qfrqn, zots)

2. vfrr +{r q= t++ q{ qro+ w?

(a) 2001 (6) leee (c) '19e6 (d) teeT

N{T.gs.fr.-FE irqterr ffi gif,s *r +fr,q.fr.qm'q€. trr, 2o1s)

3. leee 3+t 2000 { t{qfd t+q..Ts *<t + frq i+.-d-{ 3fu{ qr?

(a) 1,50,00,000 (D) 100,00'000 (c) 50,00,000 (4 2,00'00,000

6gs.q€.fr.-rE g{}r{ ffi sFf,q ut fr.q.fr.1m'qt vfrqn, zots.l

trtVr (+-z), frq qR Eraqn t ftq rrq 3{H ffi 6fd-q el el.qs.fi. 13]ffi) +1 vqq qd +1

6eiret t 320 Eri + q-q ffi i frs{FrER ,4* q sqitrd tr qrw 61 31qq{ altqq +{ Yr+'+

tsil {fqql
70

60

50

40

30

20

l0
0

drffi nrm< rrtrrd qifs+1 sidsn€i

a. lgsv) Eri cq (ql6dT) ordpii qt drqr i 31-d{ fu"H lqqq g ql-dc tl
(a) ceiflru fi,i "tftr+1 (c) sfM+1 (ril {frrfi

(gtT.ST,*,, *.tr.fr .qn.qq.Cfr .m.si. l SR.3{r$. Sq S.ST.gr$. qfrqn, zo t s)

r5ts
: (qi6er) er*t

I qrx qtfr d eru dtt d

w qu o<Ys tri d

330

I

I



3r'74 qqf{ts offird
s. (g6s') Eri e+{ (qFeer) ernst + Etq ftqq qqr d 3ft{ fu-q fqrq t sTfiffidq +?

(a) r{Iil;6t (6) qib+1 (c) ueiTn+z (./) {qTT{
(qg.W.fr., fr.S.fr.qm.Sff0fr.tsn.l \.q.s{r$. qE S.\rfi.sTr$. qfrqn, zors)

6. rfrrir eirr erefsrna d r+{T +r q6l 1qp561; orxel al Td H@r +i ge-+ t rerd 3tR
edrrq { T+yr Ai d t:*; er*'q.t Ea sqr *,
(a) t7x HcIr (b:) 4.2% Erfq+ (c) l4.S% 3TlTfi(., 12.8% sTfqs,

RT.Ss.fr., *.q.fr.qrn.W.O#.fi.efr.1 C-R.s{r$. \q S.W.sn$. rr-frqn, zors)
7. (qfr-f,r) orxeri *i erq ffi e1 gm+ q ffis frqq d Effi Ej rfr +?

(.7) +lll{eq+l (b) Xqqff€? (c) rTIrta (.4 rg|{{
N€.\r€.Tfr., fr.q.fr.qr6rrs.C+.fr.efr.1 W.oTr$. Sq q,CT.sTr$. qfrqn, z o r s)

flcfu (s-rr). fiq <e s{rds t gs crrqrTfi fufleq + qoE sq Hq E} erff-6 qirqr *
cFetrd qi s{iqr.rqr tr rq-+ sTrER qr rtq frs.rs qR yy-+ d vfi sm enT{sr

120

80

40

20

VI VII VIII IX X
i5q{r

8. q6 6q{r +{ si +, tsgq'g-tr EtT srd 6r.,11 qqtirrfi t?
(a) X (6) VII (c) tX (./) vrrr

(W.gtT.Ifr. -81.S.*.tm.frc. etr r+.ur$.f'c.S6. sq-f{ftq1-fi rrfrHr, zo r o)
s. Eff Ei+ qrd ds+l 4i cfr H'ril q- snqn qi srts-d fur ffi t?

(a) 78 (b) 70 (c) 7s (d) 72

fgq.q€.fr. -R1.q.fr.\rtr qc. *r ui..?Tr$.Ss Ctr w_ffiqrm qfrqn, z o r e)
l0- s'qr vlt, VIII nel x q Etr EI{ ild Csfri qE 6sffi m q-o vun s.r 3{gcrd fff,{r t?

(zr) 18 : 21 (b) 20 t 23 1c) )9 : 25 (cti 2t :26
(W.\'q.q1.-rsi.S.fr.gm.Ss. etr +fl,,en$.Smqw.. w_frfrqa qfrqn, zore)

il. .16 6qn +i-{fr t, ffi str eF qrc e-eBr- qr risr, Btr d-sffi +1 sfr +qr q1 s+€r
qwr d ffiTdq e?

(a) X (D) IX (r.,t Vt (rN VIlr

Gq.qe.Ri.-fi.q.fr,qm.qq. eil ni.ere,St.qm. sq_f{frE1fi vfrEr, zorsy

100

60

fi'v

E
'tr
cs

E

'lE
le

0



3rftft_ff ygq_3-f,{ {tr6 sL75

Friw (rz-ro), Frqtdfu( err Effi A qq 4Tfr B + tdS qrfu-q' {d{r3]i q{ 3{rqrFd +r Rqia

ffi, v+-o errl qq {d.drq + sffi Fiq {qdr'i f<q rrq tr vqo anq 3er<r,.ffi E6rgd t
sqfrc qq1 vssl sd (ffl+tr cil s-6Y 3rrqwf,f,r d) 61 qcri + qrq Fr+-rd.Ts + qq VG 6lsl

elt ortrflq{ sd ({cTr'fr cri sEi sTl-Erqtn-flt d), d fu reqnr,'fe-*1 {+.r$r Q v-sqra: sqftrd rfr
*, ft] {cd * eK t{firdrrqr tr

r rq'a ffi r,+ {fia FITq t Yr6 arrr
'70

60

50

40

30

20

l0
0

20t1
ffis

20t2 2013

r n-qa ffi J..t {EEa Etrct r {f€ EIII

2014 2015

C{'qn fr t
80

70

60
50

40

30
20

10

0
2011

#s
2012 2013 2014 2015

tt.q+ q.tq t)

12. qR yeqr q.d fimft <vnet 6r FIUtq q.'{i t6 foq q+ q-+A t-, d +s sn + ftH ff
dqFrdi + sffi 6r ffiqq mri + qrqt(q.tc-qr e{ sqt-q fst +1 c-ds i t:
(a) 2011 (h) 2013 (c) 2014 (d) 20rs

(qq'.fr.3{r$ t+q+c }-fr vfrqn, zorsl

13. fr sS + +irt fi qqt{qi + $@ el ffiwr oti d ci-qIEvdtq, eTs-flq qd d
s*-e ffi ergcrd', ffi ERI gTcI i+qr rrql t:
(a) 2014 {, mq4 o* (b) 2or2 t,s.q-fi B fl{T

(c) 20ls d, 6'qfi e6RI (d) 2011 q,s.qfr A ERT

(qq..m.3n$ ++n+e tfr qfrqn, zots)

14. +q sfr + iRH ffi Eqfrd u; 3ffi q.r ffiqur +-ri d qs-qqs+q, {.6 dlq + {f,cr

ffi eqvro, qq f5q1 rs1 $;

(a) 2011 d, 6-qr1 A Em (b) 2013 {, aq6 u *
(c) 2or2 d, 6,q4 o* @) 2or2 t,6-qfi B a{I

(qw..m.ed tiq+c i+ qfrqn, zots)

I

I

I

I

I

I

I

I

I

I

I

I

I

Ir
I

I

IF
I



sr.76 sqf{Ed ffird
rs. +s qfr + +{rq qH +-qFd + sffi q.r ffi$r q.ri *,rrsrS (+q, s+-o q-qffi{ qrfth

cfr{a yrq fq-qr rqr t;
(a) 20il d, mry4 , * @) 2ot2 t, *rq4 , *
(c) 2012 t, fi'.qfi agn GD 2ot4 d, qqfr ernr

Gw,*.sn$ t+q*e *+ vfrqn, zorsy
ro. ett t d E{ d fi 6qFrd an ffi sc-dr f{€ (breakeven point)qfi q<rqr etrn:

(a) 2011 , 2013 (h) 2012,2013 (c) 2013, 20t4 (.1 E-{t t +t$ rA'
(qw..m.err$ t+qile ?t qfrqn, zors)

giTGIltTT

2. (q) 3. (b) 4. (c)
12. (d) 13. (D) 14. (c)

6. (") 1. (d) 8. (a) 9. (b) 10. (b)
16. (a)

5.

15.

(d)
(")

H rrq c[+ * Ed

1. (b)
1r. (c)

t. tggT t tssa Ffi qrrl d yfrvn qk - 33q-260x166 
= 70 ylgo=26.s%

2. yfr *{r {s Ed 1996 d qrdc Qn 260 260

3. l99e eln zooo d Frqiil f+q qq etd * fiq qm = zoo 100 = t00 ers ett
4. gss BH cE qfdrmr Ernd st 6qr q ru-dc aid{ Rfuq-+1 fEqq t t

=16-15=l
s. g* Erm ofu qicer srdpii * *q rqrfi frsq + (6t 24 = 3.7) qfi ii eih{ sqe qFrfi tr
6. rrFrd e*r orrfvns fqqq { edn ti qtei or*reri q1 E-d s@r = 2o + 34 = 54

.rtrR e+r oT?i{rna fqqq { yaqr t+ qd Ed 6r,{ = 30 + 32 -_ 62
q?{ =62-54=8
.'. qfr€ vfrvre =-9-1160=r+.gZerFr+

54

7. {.d qR <Frffq t m suE + f+- {qE-{ frc-q q Enrsti ol yfrvn vqt q.q tr
8. sqlr x d s-ff di Erd tdflTfr s-ciflrrfi t: 70 + 90 = 160

9. q=qi +1 yfr om q* _ 80+40+90+70+70 
=i5O =to55

10. iF'qil uL VUI dcn x q sfrI i EI+ erd osd = qo + 90 r 70 =200
iEqr VIr, vrrr iTe[ rX { ts-ff 6}+ srd dsfrqi = 100 + 50 + 80 = 230
erfuo ergvn = 2OO : 230 = 20 : 23

rr. sff dsHi s1 Em v@T = 70 + 100+50+ u0+90=390
$sa +sr =lA=ze

5

ir6 sqlT vr t ffi Emd di erd dssl qi v@r e-sffi Et qsr + t++rw tr



sr.77
3{frR-fr sf{-3ifi {116

12. qd 20i5 i s.n-er ffi qq €?r-fi tllq +r etfr sqtltm tr

13. fu. q fr+-eii t t err"qq qq voe ffi:
t++el (a) es zot+ e-qfi e=, ?9-l

603

fT{-4 (6) ad zotz 4.qfr B - *=:707

ft-+-s i.; qd zols q'qfi B

tr6fl (d) qd zott s,,qrl A

5

I

202
05

I 5

604
sd zotz d 6qtr B ERr ssta, erc-sq sd t {fm ffi ergqm vrq t+qr rrqr tr

14. ftq rrq ffi t t Ug Eilr{ rFso frihl:

f++eq (a) qd 2o1l 6qd A - :=+60 12

fus-q i1,1 q{ zotr 6.qfi B - +='z,707
tuileT (c) qd zorz s.qfi e =+=+65 13

ffrFT (d) qd zott 6.qfi B - +--+55 ll
e{ zotz d o.q+ A gru eqta, gG dl'{ t s+a ffi erJvtn cr< ts-qr rM tr

ts. Rs ffii t t s+a s-{rff{ qrtd-{ cfd{rd'

trrfl (r) e{ zott mqfi s = }x100=36drrerr
55

rq-ffl (b) q{ zorz 6rqi1B = 
20]100=zeen*

'70

fu+e (c) q{ zotz q'q-fr A = 4x100=46errcrrl
65

fr6fl (/) q{ zot+ 6qfi A + }x100=33drlrrrl
60

qd zotz ffi A d e-qfq, €iE.EI r=flcH c,fdr Yfdfl( grR f6-ql Tqr tr

16. qq 20ll t 4qT1 a d oim =60'25 =q35 5-qR q-ts

qd zott n 6tr{ s { 31-d{ =55-20=<15 rqn mrlq

q{ zot: t 6qfr A t st-fl = s0 - 20 = t30 EsR q.tls

qd zot: q frqfr B d 31-d{ =50-20=E36 5-qR q-ts



$r.78 qqi{ts ffird

tterFdd

frfu (r-+1. e: qfr d, s] +"qFdi a erh s ERr Ecr+t .rfi erq sfryrd

60

50

40

30

20

l0

0

-+ A
.-.*-- B

2008 2009 2010 2011 2012 2013

+-A 35 45 35 50 30 40

-+- B 40 35 50 45 45

r- z0og.*t zoro d, mo6 B 6r qq tl2 Ers *r <r+.s erq tr zoos e*r zoro q fuirfl
+-qfi qfr 1e ur,+ wr zfr?

(a) 3e.75 (b) 37.e5 (c) 3s.7s
(d) 38.55 (e) vrt t eH ;rf,r

2. 2ot2 q, ffi e eh e * qq t ot5rrkT i6wr: 3

(sn$. *.+.srr$ qrffi-d qfrqn, zors)

: + *t zotz t q+*1 sfl-q 4-r %ckr ,FrryT:
Hr drn?

(a) 2l ;26
(d) 26 :21

E

fE

F
F

F
ts
le
E
lr5

F
r
E

(b) 13 : la
(e) E-+{ t ot$ l-ot

(c) 14 : 13

(err$. +.*.sTr$ qrffi6 vfrqn, zors;
3. sfr q\T d fuflT( Fqfi A 6T td qq 82.5 Errtr qtr sfi Ed t Frdrs{ a'qfi a u1 *"

snq qr *?
(a) ?1.23 a;{ts 1a; <ra.zs +-ts (c) (99.8s s.,ts
(d) Tdrcr rd q s+m (r) {{i t +$ Tfr

(sTr$. *.*.oTd qrfrqF.{ qfrqn, zors)
4. oTrR 2013 i 6qfi e er\ n EFr arq q{rfl + ft qtt'6qFfl}'e1 E-o unq s.z erq *r

2013 q +i'HqFrdi +l Ee qq F*-tr{ eil

(4) <4 EIrGI (6) <2 EIq (c) t4.8 Enr
(d) q?m rfr qr v+nr (e) F,ri + 6ti Tfr

(sTr$. *.+.sTr6 \rrffi.q vfrqn, zorsy

40



sTfrR-fi vf{-Tfl{ Titr6

fttw (s-s): fiq qrs sr HrsqrfrTis erqqq qlfqq ss f<s qs vrl] * sfl {fqqt

e ftra crfr + +rrq Yrfr AFi Yr6{ B t & rrq xvzre * qwr+ a1 riqr

sr.79

400

350

300

250

200

150

100

50

0

s. {16{ s d enq.fl o1 artqr qqEql q qi Ts ERTiI 41 dgr t ffi srd{rd +1 gk g€t

rczL
2

H,fr

tt
t
Y,

Y
4E
46

tat 165?l
(a) rorl k) rca! 6; rcol (a)

ter$.fr.fr.\rs.-**' fi,efr/qc.*. fr.vq.f-s qfrqn, zot s)

e. q-ffifr i sH yr6t'ql fuf,rsI fi.TS ERri m1 5e uwr qq vrefr i +{t lTrtr dl fr"f,rq'{

n-i,rc ffiTi +1 qd qsr * qq qr e-fr tr
(a) 280 (b) 27o (c) 290 (d) 260 (e) 250

ter$.m.fr .\rq. -itfi fr.si/qc.*. fr.gq,S- s qfrqn, z o t s)

7. 116{ a d aaqq qro d a-i rrS <Rr+ fii €-@I {,(il qro i wat e d tq'rS E(Im" 41 R-@r

t t+-f{r rftsrd 3Ifq-6 t?

(ct) 32 (6) 28 k) 25 (d) 30 (e) 20

teTr$.*.fr .\r€. -ilfi fr.ei,qt.f. *.sq$- s qfrqn, zo r s)

8. {16{ Ad srqfl, Tqq{, fffE.{ w qtd * dffi +q]Ts sRHl'41 3tsd qwr er *z

(a) 2r5 @) 220 (c) 225 (d) 2t0 (e) 205

teTr$.*.fr.rtt. -+fi fr.eirzqn *. d'.rq$- s qfrqn, z o t s)

9. {rfl B { fudE-{ d +s'rs <kTr+ qi1 Ed {-@l ts-fr vn-r q reqr t qq ,rs qkFii q;i €:@I

t zox *q t'r ss1 vrer d fqdqc cE t€q{ qra t il rrs <Hm si s@l d qq mqu'

ar ergvn tz
(a)2:9 (b)l:5 (c)2:'7 (O4:9 (a)3:10

ts{r€.*.*.\rq.-iffi rfr,.efrzqc.fi. fr,..sq,g-s qfrqn, zots)

criF.qfrtffq{ qr-qfrTqI4{sqfl
80270 190350260

300 100320200

-+.vrt< n l l50
50-+-Yrfl s | 120



3r.80 sqf{E offird
fr+gr (ro-r+). Eq H$. sr ttuS .3lE t<q.TS crn q 3-t-r {feqr

4oo

3s0

300

250

200

150

100

50

0

t20

10

o eroq H { ic a oi}r e ERr +6{rr{ t srd'rt-qrq i-.F q;il 6{+ qtd ffi si H@T

{m.4R +i *c e ERr qrxr o-ri erd ?ilr'61 s-qr, {6--qR dt ES gt aq ryn 6ri qrd tr
s1 Hsr t zox qrq d, il {m F gm g*qn *i 41 -+d Ed er'il s1 q5qr 3rh nFqR
61 qrx ori srd dl.ii d etq s-c{r: Hr .T{qH t?
(a)4:5 (b)3tt (c)5:6 (r03:s (e)t:4

feG.*.m.qr. +fi fi.o+. (rr.) Tfrqn, 2o1s)
u. et[ER ts+{ q.rm-qR +t ts n ERr zn,il.q''{+ srd -qTFrqI' q1 Ed s@r 3it yri{sr sjk {rq-qR

Ht futrfir tr egm q-a1 e-g erd qrffi'+1 qd q@r + *q wr qrn-< tu
(a) 200 (b) 230 (c) 210 (d) 2s0 (e) 240

tsr*.*.+.qs. +fi fr.sn Gn) Tfur, zors)
12. dqqR, qrmqn, grr-dT{ qt xF-qR d tc a ERr qrn oli qRi qTM si srt€-d sqr ei Ll

(a) 220 (6) 190 (c) 20s (./) te5 (.e) 2tt)

fer$.*.fr.q=s. +fi fr.3fr. Grr.) TfrqTr, 2o1s)
tr. crlTqR t qq-f,qn a-+ *c .AERI qrlr +li qtd qrM +1 s@r c'fmin ntdyrd sci gi t?

(a) 3s (b) 40 (c) 30 (d) 42 (e) 33

(s{r$.*.+.ST. +*. fi.et gr.) qflq{r, zors)
tl. cfusn d s1 T$ tri a+ Er{ fuir+-{ qr*r q-ri qrdqrffi'*1 a-e uei, grr+r +l { G i+

ERr qr+r o-d Ed qrErq)'61 E-d qqr t ffi yfr.fli.qrqr t?
(a) 128 (b) t23 (c) 142 k0 ltS (c) t35

ter$.m.m.W. +€ m.sfr Gn) qfrqIr, zors)

E'v

F
E
la!

2. (e)
12. (c)

4. (c) s. (d)
14. (h)

6.(a) 7.(dl tl. (.1) 9. (e) 10. (r)

YrFr-qR {F{qR dqqT{ qftFm ErcR TG-qR

+ile 350 240 210 I40
{,tr B 320 3r0 200 200

El,it[TTf,t

t. (b)
tt. (a

3'(e)
t3. (b)

270 230

170



3lfttrft c{-T-Efr{ qtr6

100

l. EIIq q" ( 3lrq q'J I Y 

-
qq

2009 t "6H B ?Fl Err{ = 35%

td'rq cr+ * Ef,

3L81

2

. l()l)ifl -15=l/-12)x--tl
= 420=1001-1200

+ I620-100 1

= t =1620 ={l6.2Errg
r00

2010 q'ffi 4'r ETq = .5070

, l()0ifl 50-(/-14.51<' 14.5

> 725=1001 -1450

-- IOO I =2175

= / ={2l.75EIl€{
2oo9 +{ 2olo q 6q+ I +1 Eo 3{rq =

2ol2 d 6qfi A 6.r rilq sfldfld = :ox

2ol2 t s.qfr B "n dlrl gfrYkl = 40%

2or2 d 6q-fl q1 ; enq

10030=(1-3)x-

+ 90=100/-300= 1001 =390
1q

- I =:- = 3.9
l0

2ol2 q 4]1lfr r q1 qH
. 10040-(J 1lx-

4

40={1-4tx!!(', 160= 100-400
.l

1 q lq
qIT6d 3FFTKI- 5.6 56

16.2 * 21.75 = t37.95 drq

3. flq t 6E i-dt

= 100 /= 560

560t=-- =5.6
100



31.82 qqf{ts or-frrtrrf,

(D

(ii)

4. cnr fq, zotr C ff ,4 qq'qH B +'t eTH Fqfl
rrrs x qq T(s.z- r) tt
2013qffi /z6rEIIil 40olo

. r- F
dl 40 - *><100

E

r-E 40

, 100

.r4
z' t0

.r414:=.._= -.._+l = -=1.4810 l0

2013 d s-qfr tEI ?rl$r = 45%

45- (s.z--r)-.exroo
E

45 5.7 - r
100 E

_145 _5.7 - x
100 E

5.7 - r
E

qm-frTr (i) s (ii) t,
5.7 x 145

- 

= ---_ = ( 5.7 _.r) l_10 = l45xx 140

= x - {2.8 EII-@

sct'+-{q tit t,
I = r.,l
E

la''" =1 .4 = f ={2dlq
E

+{' *qfr sr to qq (z.a+z)=(4.88r@

srd{ B q- 3Eqqr d d-s .rS <Rm'q1 qqr : tZO

Yrfl B d tEEr t +i .rq <er+ +1 qqr ::zo
eTtud sfi{rd gru = "!^^t'o*,16 = ?99,r011=s}e =166?y"- t20 120 3 ."" 

3 
'-

yr6t A qq B + s-|{fr qI6 q tA rrS. t-d ERri = 190+ 100 =290q+€ 3r-il{ = 570 290 = 280

5

6



srfrft-ff v{r-sfl dn6

7. {16{ a t r+qt q€ { tA rTS (Rri 61 q@r = 260

yr6{ B t TqH{ rtt6 i id qC ERT+ si s@r = 200

gtd{ = 260 200 = 60

o{SE etdsrd = 
60 x100=30%
200

8. ylE{ A i grdgfl, Tqq{, fffq{ w qr{ t fi qq <sni 61 otsd t'ql
150+ 260+350+80 840 _ ",,,44

9. {16{ B d qqq{ d H Ts ffirii q1 q@T = 120

yr6{ B q fudq{ d ci .rq sgr+'+t E@l =tzo-20,"-?0 =rz0'24=96
100

3lfrq erJqtd =96:320=3: 10

10. lF-cr{ qi tt e d qrx q-'ri qrd fri +1 eet = zoo

E*-+n +i t< e t qrx q-ri srd tri 41 {@r =2gg+Lx200=200+40=240
100

flFrcl{ q1 ts s t qrllo.d eT-d fri o1€wt = rzo

ffia ergwo =240 :320 = 3 :4

Ir. h B Em dc-dt-{ dr dqsqT{ q} futrfi{ qr*r +ti ad 5e qrHi d sqr
= 200 + 170 = 3'70

ir e gRT yrtrcR otn rtq-qn Ei firtrfi{ qzt +.d srd Ed cIH d vwt =350+270=620
qifi'd ei-d{ = 620 - 370 = 2so

12. ?n A EI{r frr-qR, qrmqR, gu-an srtr y<n +i qrdr +.r+ qrd utffi'+1 3i}{la v@r

24O + 210 + I 40 + 230 
=820 = ZOS44

13. ts A ERr {Fr-qR 6 qrx +.ri qTd qrfdd 61 vqr = 350

ir a rm drrd-qR si qrx +li sTA qlffi e1 sst = zto

qrtrdd etd{rd * = "0;;a"o x IQs = Ji9y 16 o = 40%

14. rid-qn 4i ++i in 6Rr ql,il +.{i qd qrM +1 €@l = 270 + 310 = 580

gq-qn E1 qt+ i+ ERI zil?t +-d sT-d qrffi +1 vqt = t+0+ 120=260

vfrvn qa-a - 580 - 260 
x 19g = 19, 166 = 1 237"' 260 260

si.83




